Example building structure for lots of 8334 sq ft
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1500 sq ft house
75x20
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garage
20x20

driveway
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3 parking spaces with gravel centers

Driveway is 20 x 25 feet with gravel inlays (gray stripes) to offset impervious coverage.

The additional parking spot is 10x20 meeting the 3 parking spot requirement.
Total impervious coverage of parking (minus gravel inlays) = 600 square ft

The lot measurements extend 1.29 feet on two sides beyond the shown setbacks. This allows for the
need minimum lot size of 8334 and an impervious coverage total of 2500 which meets the 30%
maximum limit.



